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Parseval's inequality for Fourier series:
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Parseval's inequality for Fourier series:
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What is the use of Fourier analysis?

Stability condition

Defin t n 4 Stability of t Iy first r PDEs: A finite djj" scheme Py ol = [] f a tempo :_'Eyﬁ st-order PDE is
stable in the stability regio 1 ftf nteger J s f that for any positive time T, ther a constant C'r such that,
QVW\ F- O !Z [l ||;! forO0<nk <T with (h.k)e A (406)
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Stability of FTBS method for advection equation: ° O
6.3.3 Analysis in frequency domain: Amplification factor \A J(QU/X Y,

¢ Consider FTBS scheme ([27h]),
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g(f) := (1 — k) + ke
g(f) = gr 4141, where

o g —7/2)=(1-k)+ ik

1 o 0 glf=0]=1
g(xm) =1-2k

o 9(n/2)=(1-k)—1k

The image of g(3) for the forward-rime

B kward-space soheme.
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